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Determinare l'equazione delle rette passanti per lorigine, incidenti la retta r: (x=2z+3; y=z) e formanti con essa un angolo di /6

PETTA a4 : X=2Z+73
—~ (25+:~/a—/5/ v=(2/1 ,4)

w = P—O :(257‘3/ 5/5/

vl = J¢ W= 65%4425 +°

cos@ = VW Viw = lVIwl coss

(0+6 +5+0 = Ve /6524125 +2 coS(?)
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(¢5+¢)= (Vxmtimo 55 J_E)
Z

265°+ 725 + 3¢ = (265% 4725 +36) 3
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(36-27)5%4(72-55)5 + 3¢ _ 31 —0o 185 +365-8=0
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253¢5-2=0 &= —9tMet& _ _ 4+ U8
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Po=(2 (-2406/2) +3, -2+ 022 -1+ (¥)2)=
~7 =(1+0¢ , -2+ D6/2) ~1406 /2]

P =(’l—l7é_/—i-§«?/z/—i—56_/z)

Sut 5 (1406, -2+06/2) - 1406 /e

Sz - 5(/"‘175—/’4*(72/2_/—1'[52/2)



